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Chapter 5 - Review

1. What is the boundary line for the linear inequality y < 2x+7?
Y= x4+ 1 _
<hd \ie
2. Describe the boundary lines for the following system of linear
inequalities: {y - 2x <11, x -y < 13, x € R, y € R}
x> daghed
X-Y =13 > soli)
3. Which location best describes where you would find the
optimal solutions to an objective function?
Crmox &+ N\.\r\)
a) outside the feasible region
b) along the boundary line

) at or near the vertices (Cc"\US)
dy within the feasible regic

4. Which point below would result in the maximum value of the
objective function P = 6y - 4x

a) (3.2 P_D-4()| P-eN-4E)| P- &O-4D|P- G)-UQ)
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5. Why would you use a dashed boundary line when graphing the

solution set of the linear inequality 3x - By > 6?

Use o dashad \ine k)lCo\\‘gQ_, it \s SCea\-(f'%\a‘\
and at eoth\ o

6. Why would you use an open dot to show the point of
intersection for the following system of inequalities?
{x.Ylx+y<2 x>-3, x €R, yeR}
Go\id) (daskcl _
[y . .

Wren o sl \ing m\-dsc a 30\3“44 \\'\ﬂ,h\j
N\u\" q\‘ on o‘wn 60‘\‘ .
7. Complete the graph of the solution set for the following

system of inequalities by shading in the appropriate locations.
{x.y)ly<2,y >2x+4,x ¢ R, y € R}

F Yy —> Y2 x4
s | RS
) <9 o [0
3  Exnzaazzad o+4
| 4
| Falst

8. What system of linear inequalities is shown here?

e X4 (shaded L & dechd )

7 Y= -4 (s\abeé abovt the So\‘l) \\m)
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Foundations of Math 11 Chapter 5 Review  Name:

The Cat Shack is selling t-shirts and hoodies at noon hour.

* Daily sales can be as high as 80 t-shirts and hoodies combined.

* The sales rack has room to hang no more than 50 t-shirts and no more than 40 hoodies.

» T-shirts are sold for $15, and hoodies are sold for $25.

Create a model that could be used to determine the combination of t-shirts and hoodies that will result in
maximum sales——

Lt X = /t ’S\'.“."\S

Lek¥ v = hoodiks

LTS = Saks
Restrictions: ew.

Objective Function:

Steps to draw the graph:

- XAy =80 \x: \\3:%0
Sales Yeonn Gk Shads
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